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1. Match each term in the left column with the best definition in the right column. (16 KU)

(] ‘o/bject -A. A tangible and visible entity.
_Q_-/ﬁaces B< An appliance that corrects dental irregularities. %

A[ ‘{rimitive datatype €. A method of conveying information used by “cave men.”

L‘ésignment statement _pr. Something students hate to get from their teachers.

v

E ! J. 1t’s so exciting to be studying computer science! !N
.x% A. A function or “action” that belongs to an object.
J-Vr{dex 4. Operators, such as &&, || and ! that are used to create compound conditions.

L 4&petition (looping) H. Any time during which a program is being executed.

/ ) 4 Operator used to evaluate the remainder obtained upon dividing two
M data field (property) inte
gers.
g /galection (“if™) 47 A number that is used to identify a particular character of a string.
F fethod XK. A statement that is used to give a value to a variable.

X. A programming structure that allows a particular group of statements to be

G onditional operators repeated a certain number of times or while a certain condition is true.

i‘/declaration M. A variable that belongs to an object.

_/:I_%n-time M. A data type that is not defined in terms of simpler types.
_Q_tﬁesign-time . Any time during which a program’s source code is being edited.
l‘énpile P? The “not” operator used in C-style languages.

Q. Symbols used to enclose a group of statements that are to be treated as a
single statement.

AR A programming structure that allows a particular group of statements to be
executed while other groups of statements may be ignored.

857 A statement that specifies the name, data type and other aspects of a
variable.

_¥. Translate a high-level program to bytecode, assembly code or machine code.

X. Generally a collection of properties (data fields) and methods. Inthe .NET
environment, events are also included.




2. Translate into C# assignment statements. (8 KU)

1

(a) Calculate the number of
whole minutes in a given
number of seconds.

/] Value of 320 assfjnfli For illudvechan, PUrposes "”)\/i
IﬂJL' seconds = 3&0
ink mmV\LJ}ZS = 32(,014&5 /630'

e

(b) A=2zr*+2zrh

// Valwes <hysen v dTuetral on pur poses @n[\/l
double radius =7.3 he,l(j}d,’ =R,4, area’
arec = x Myth. P].% MarH\ Pows (radius, 323

¥ A ‘);h PT %ray[,ugéchexﬂh‘]:‘

3. The code given below is supposed to find the average of all integers between 0 and 1000 that are divisible
by 5. Unfortunately, the code was written by a very sloppy programmer who made several syntax, logic and
indentation errors. Circle each error and then write corrected code in the provided space. (5 APP)

Sloppy Code (Circle all errors)

Corrected Code

sum = @)
count = Q)

for (=@) x (>3 1003 x+=5)()
{
\%iumﬂx O
ount++
+

average = sum/count;

Sum=0 3 ) For ossignmen| stolements ./
Cou,vd':O}
;Eor (%:03 x <= oo X+=5)

\/sum t=9% 4 vd

Count t+ ;
I

avewe = Suw,/coum’l.'j

4. For the given code snippet, create a memory map and state the problem that is solved. (10 APP)

Code Snippet Memory Map Problem that is Solved
v/ J./ S
i nakul
Befre | [~ T o) :
int nakul=0: ew‘erl[‘ﬁ ? By the time the loop has
string c="": 190 O nig! I finished executing, the
string s="aeiouAEIOU" P | vl [ variable “nakul” stores...
string a="Kenny Vuong 2 W 2 _[_: !
for (int i=0; i<a.Length; i++) 3 ann 3
{ voq E l j .
c=a.Substring(i,1); ;’: 7 ‘,7’” ;f ;
- ’ 1
(8 def(©)=-1) VR R tho  String "a
; : Jd, —
} 7 [ T 6 that are D]
] ° G vouwe(s,
9 0 " ) -7 I/
(0 1 g (The space ts
Ater — o 2 considered "NOT
exiting loop— 3 ayowe/"")




5. Consider the following C# code: (2 APP)

long b = 3;
int a = b;

Is this valid C# code? If so, explain why.
If not, explain why it isn’t and make

corrections.

6. Explain how the following C# code could be |mproved

(3 APP) fl Z-ZOSIZC

if (smallRadioButton.Checked) "
pizzaSize = "small"; A Aj\l’c' O"[}(

if (mediumRadioButton.Checked) ‘z;l'eo gﬁQ
pizzaSize = "medium"; 0SS 1

if (largeRadioButton.Checked) P [ \/
pizzaSize = "large"; Vo lnES’ We AV

"
The value of” ! Comnffi_

if (extralLargeRadioButton.Checked) V. osn (e (

b oS €0‘ ..l,.o piz'zaSize = "extra large"; Wl‘Hf\ )
beéca,uzéﬂn 'S 05'\ m C[ao\SZS giqwu be
/ oF (small RMW%TOV\ C}\e(kdl use

VLYPZ/ o ” which is too
’“*’3@ -por -Uxe, it “l'\}PQ’

iz S

cle 1+ (_meo(lquMwBM't °V’ C\,\ecke’l) /

1ze = "smal|"

or\rggbon. \/ Pl'zzo\S‘Z@ = MC(A\\,{ ;
. e ll (| ,
0= by < e Rl k)
clse {
2 12720 S\zc = Qx%vo\ \avgc )

7. Two integers are relatively prime if their only common divisor is one. For example, 9 and 14 are relatively

prime because their only common djvisor is 1. However,
e%ecute to determlne whether the integers 12 and 35 are

| o ( V‘e}aresewfs the cahdm(mtc Adwisor

(a) Explain the steps that ?ma\uter
relatively prime. (3 TIPS, 2 COM)

. Does ¢ allvule Poes 1 dh/ld&é expla
‘ i 17 ‘e 357 ¢
d Yes No

3 No No

t Voo No

5 N Yes

6 Yes No

7 N es

i Na No

9 MNe Ne

9 [N Np

f No No

1 Yes No

R ke starch erds ot 1 because. no number

(b) Write a C# program snippet that determines whethe(ggvr\mgn mtegers ari
M)

should include variable declarations. (7 TIPS, 5 C

mto=13Q
int (=3, 3 ma[[er)
£ (a<p)
smaller =b) /
while (G%it=0"11 5
L$—+J

iF (a%(==08%Y b%1 = =0) /
lalel L. Test = " Nek m\mhve\y pmme' ;

els€

lmbCllcTCXt : RC,G&lVQ\Y Prlme,

o Tn s exam

7 b AT, ‘///Va\ues chosen for 1L V\S{'rxhon

8 and 14 are not because 2 divides into both.

o the valuz of ¢ ru i@ £rom
L *o 75/@, smaller oF the fwo H#g

ne value 0

i is Found that olmdeﬁ exqcf/)’
nto both IR ond 35,

* This means Hhat LR and 35 must
be V‘Clah'v@’y pr(‘m[/'/

grecck" than 13 con olivide into 1Q

relatively prime. Your
ot 0, Varialle namd, €

DU poses QWJy f

de

Ol"t

Crysta’s ho
IF gcdlab)=| —> re lativels Y p*’m&
9¢d(9,b)>)~» T Vela'\'uwly pmw_
// Enclidean ged odﬂorf‘H’l &
I v~ rempinder, i£7r=a%]
?° if (A >1)
r=o%b: lakll Text
a = b:, l = "\BT rel. Pn-a.e_,“;
b =13 else
Euiile (b1=0)5) Tlabel L, Text™
9cd :a} =7 rel. pring




